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18..The following table showe the total costsHule of the firm. Calculate Total
Fixed Cost, Total Variable Cost, Average Fired Cost, Average Variable Cost,

fotal

Average Total Cost and Cost.

0 I 2 3 4 5

Cost 180 300 4m 510 ?20 tooo

19. The following
fixed cost and

table is the total cost schedub of a firm. Calculate its average
inal cost at each level of

'otal Cost

20. 'The total itist schedule of a firm is given e. Calculate its Total Fixed Cost,

. 
=.;,,To-'tii.l Vaiieble Cost, Average vaftabb A!! !44 U4ry44_C."q

l. When MC > ATC ? What will happen bATC'

2. When MC = ATC Z \4rhit happens to 'illC'
3. When MC < ATC ? What happens to AtlC'

4. What is the relation between MC and.llC ? When AC is rising. (NCERT)

5. At what pointd&-s the SMC curve cut&e AVC curve ? N"1111

7. ean there bq some fired cost in the lq run .? If not why ? (NCERCI

8. Why is short run MC crrve U-shaped ? (NCERT)

g.WhatdoestheAFCcrnvelooklike?Eydoesitlookso?NCERT)
10. can the'average coet be less than tb marginal cost wheri hlerage cost is

rising ?

rr. can t-tre average cost be more than tbc marginal cost, when tlie average cost is

frlling ? i

12. $Aat is the diffeience betn'een TC andtYC called ?

I Reve

Output (units)

Revenue and A

o
Ma

4. From the data iven below. calculate Total Revelqge snll IvIs Revenue.

Price
nd Prft=-

-

t

*B
g

il

ti
;1

1

2

3

4

calculate Tota Revenrre an< nue

I 2 8 4

10 9 6 4

Iarginal Revenue
(Rs.)

Total Retenue'
(Es)

:-
Price (Rs.)

L2

10

8

6

3. From the followi venue.

1 2 3 4

Revenue r0 8 o *2

,lqfo nqlnrrlate Marginal Revenue a

1 2 :. ,-.13 . 4 5

l<ital Revenue 7 14 't 2l':1 28 35


